(8= {Rf & 2| kel
- g%c!, ® o8 A0 ALK 6L, a {

2 4 \S (|

Cit' awi‘e _ cifl-‘l)-«lz_b_ _

M D,

4 342 t-¢
& At = L

4, f‘E Z_'c_./g 3] 462, 155?

[(14:2),(42.4), (2 4 4) | = (B

(0.6,0)+a. &,c')={ass, 1€, cicl)
a=fec abitte' = ata'= bié'=cc
atlic=0 @'+4i1d=0 > ) -146') +(c c|=0

[RE(apt 0) | b= > & 6=
3.7'/7((4:/, #2’)4_3 (/4414)3{@,69
}(.Lj:a‘g y= a-€.-7

K-—Za:(-’ e 7.
—%+4 =C X= 2

2¥ -4 —a+l— C

K_/Lt-;/" 2‘)t (”(l?,’!' '), (“27.-7)] = L’B:\
-

i
6‘1 2. 6’-;

6+ 6::.."'"-{"'-3

g = (2¢5)(4¢)

gt i ue) = vdesr Bk L2k DGk
= of4)=C

q=(34(%)

65 —d = Yk

(@ =4



